
ERRATA 

HIGHER TRANSCENDENTAL FUNCTIONS, VOL. II. 

P. 21, e qua ti on (34): Insert the factor i on the left-hand side. 

P. 28, line 2: Read 7.13(34) instead of 7.1 (34). 

P. 29, line 14: Read 7.13.2 instead of 7.3.2. 

P. 41, equation (82): The right-hand side should read 
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P. 49, equation (17): Read TT-½ instead of TT ½, 

P. 74, equation (6 6): Read J 00 

instead of f 00 on the first line. 
a 0 

P. 91, equation (21): Insert z -, on the right-hand side, and read (2z) instead 

of (z ). 

2 2 ½ 2 2 ½ 2 2 ½ P. 95, equation (53): Read (t - y ) " instead of (t - b ) 1
, and (y - t ) 2 

instead of (b 2 
- t 2 )½. 

P. 124, equation (2): Insert (cos t) 11 on the right-hand side. 

00 00 

P. 148, equation (18): Read I instead of L . 
n= 1 n= O 

P, 149, equation (2): Head J 00 

instead of J 00 

• 
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P. 214, equation (11): Read (2m + 3/ 2) instead of (2m + 3/ 4), 

P. 226, equation (6): Read e z instead of e -z, 

P. 312, line 1l up: Read Byrd instead of Bird, 


